CDR -

CDR ( Python ), , TCP- Oracle. CDR Asterisk PBX.

, - . CDR

cdrd.py ()

#! /usr/ bin/ env python

i mport daenon

i nport socket
import re

i nport os

i nport sys

i mport sel ect

i nport signal

i mport threading
import cx_Oracle

fromtine inport strftine, sleep
fromdatetine inport datetine

0s. environ[ " ORACLE_HOVE"] ="/usr/1i b64/oracl e/ 10.2.0.3/client"
os.environ["TNS_ADM N'] ="/ et c/ oracl e"
0s. environ["NLS_LANG'] ="RUSSI AN_CI S. AL32UTF8"

bi nd_i p="127.0.0. 1"
bi nd_por t =50000

db_| ogi n="AI' S_TEL"
db_passwor d="my_secr et _passwor d"
db_i nst="sl"

pid_file="/tnp/cdrd. pid"
log_file="/tnp/cdrd.| og"

cl ass Server:
def __init__(self):

sel f. host bi nd_i p
sel f.port = bind_port
sel f. backl og = 1024
self.size = 1024
sel f.server = None
self.threads = []
self.db_login = db_l ogin
sel f.db_password = db_password
sel f.db_inst = db_inst
sel f.log = sys. stdout

# self.log = open(log file,"'a+")
self.pid_file = pid_file
sel f. connecti on = None
sel f.sel ect_tinmeout = 180
self.input =[];

signal . si gnal (signal.SlI GTERM sel f.sig_handl er)
si gnal . signal (signal.SI G NT, self.sig_handler)
si gnal . si gnal (signal .Sl GHUP, self.sig_handl er)

def sig_handl er(self,signum frane):
sel f.l ogger (" CGot signal "+str(signum)
if signum == signal.SlIGIERM or signum == signal.SI G NT:
sel f.exit(0)
if signum == signal . Sl GHUP:
sel f.rel oad(0)

def reload(self, code):
if self.connection:



sel f. 1 ogger ("Cl osi ng database connection...")
sel f. connecti on. cl ose()
sel f. connecti on = None

sel f. open_oracl e()

def exit(self, code):

sel f.l ogger ("d osing database connection...")
if self.connection: self.connection.close()
sel f.l ogger ("d osing socket...")

if self.server: self.server.close()
sel f.logger("Wiiting for threads...")
for ¢ in self.threads:

c.join()
sel f.logger("Exiting...")
sys. exit (code)

def |ogger(self, nessage):
print >>self.log, strftime("%-%n% %% %")+" hcdrd:", nmessage
sel f.log.flush()

def open_socket (self):
whil e not self.server:

try:
sel f.server = socket.socket (socket.AF_I NET, socket. SOCK_STREAM
sel f.server. bind((self.host,self.port))
sel f.server.listen(sel f.backl og)

except socket.error, (value, message):
if self.server:

sel f.server. cl ose()

sel f.l ogger (" Coul d not open socket: "+nmessage)
sel f.logger("Retrying in 10 sec")
sel f.server = None
sl eep(10)

sel f.logger("Listening on "+str(self.host)+" port "+str(self.port))
sel f.input.append(sel f.server)

def open_oracl e(self):
sel f.logger("Trying to connect to database... ")
try:
sel f. connecti on=cx_Oracl e. connect ( user = self.db_login,\
password = sel f.db_password,\
dsn = self.db_inst,\
threaded = True)
except cx_Oracl e. Dat abaseError,info:
sel f.l ogger("Logon Error on "+str(self.db_inst)+": "+str(info).rstrip())
sel f.connecti on = None
return Fal se

sel f.l ogger ("Successfull |login to database "+self.db_inst)

def accept(self):
try:
i nput r eady, out put ready, exceptready = select.select(self.input,[],[],self.
sel ect _ti meout)
except select.error,nsg:
if nmeg[0] == 4:
return True
el se:
sel f.logger("Select error: "+str(nsg[1]))
return Fal se

for s in inputready:
if s == self.server:
if self.connection:
¢ = Post CDR(sel f.server.accept(), sel f.connection.cursor(), self.logger)
el se:
c = Post CDR(sel f.server.accept (), None, sel f.|ogger)
c.start()



sel f.threads. append(c)

def run(self):
# daenon. daenoni ze(sel f.pid_file)

self.logger("||| Server started ||[|")
sel f. open_socket ()
running = 1

whi I e running
if self.connection:
try:
sel f. connecti on. pi ng()
except cx_Oracle.Error,info
sel f. 1 ogger (" Connection to database is dead: "+str(info).rstrip())
sel f.connecti on = None
sel f. open_oracl e()
el se:
sel f. open_oracl e()

sel f.accept ()

cl ass Post CDR(t hr eadi ng. Thr ead)
def __init_ (self,(client,address), cursor,|ogger):
threading. Thread. __init__(self)
self.client = client
sel f. address = address
self.size = 1024
sel f.cursor = cursor
sel f.cdr = {}
sel f. 1 ogger = | ogger

def postcdr(self):
if self.cursor:
try:
sel f.cursor.call proc("""Al S_NET. EX_AAA PKG CDR_PUT""",\
("Asterisk", \
" CDR_St at us_Fi ni shed", \
str(self.cdr['sid]), \

None, \
1094, \
None, \
None, \
None, \
None, \

str(self.cdr['calling_id]), \
str(self.cdr['called_id]), \
str(self.cdr['route_a']), \

str(self.cdr['route_b']), \
datetine.strptime(str(self.cdr['start']), "o%r-%mn %l %t %M %S"), \
datetine.strptine(str(self.cdr["end ]), "%r-%n% % %V ¥%5"), \
int(self.cdr["'duration']), \

None, \

None, \

None, \
str(self.cdr['cause']), \
1, \

"Upl oaded via cdrd. py"))

except cx_Oracle.Error,info
sel f. |l ogger (" Dat abase error: "+str(info).rstrip())
return Fal se
except Val ueError, nsg:
sel f.l ogger("Value error: "+str(nsg))
return Fal se
except Exception, nsg
sel f.l ogger ("Unknown error: "+str(mnsg))
return Fal se



return True
el se
return

def readline(self)
buffer = self.client.recv(self.size)
done = Fal se

whi | e not done:
if "\n" in buffer:
(line, buffer) = buffer.split("\n", 1)
yield line.rstrip()

el se

nore = self.client.recv(self.size)

if not nore:
done = True
self.client.close()

el se
buffer = buffer+nore

if buffer:

yield buffer.rstrip()

def run(self):
running = 1
strings = iter(self.readline())

for key in ("sid", "start", "end", "calling_id", "called_id", "route_a", "route_b", "duration"
"cause")
try
data = strings. next()
except
sel f. 1 ogger (" Connection cl osed unexpectedly with "+str(self.address[0])+":"+str
(sel f.address[1]))
return 1

sel f.cdr[key] = data
result = sel f.postcdr()

if result:
self.client.send("200 OK\n")
el se
self.client.send("700 ERROR\ n")

self.client.close()

if _nanme__ =="_main__"
print "Pidfile is",pid_file
print "Logging to",log_file
print "Starting..."

s = Server()
s.run()



	Тарификация CDR в онлайн-режиме

